Page 64. Exercice 38.
Calcule et donne le résultat sous la forme d'une écriture scientifique, puis décimale.
a. 
b. 
c. 
d. 
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f. 
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Calcule et donne le résultat sous la forme d'une 


écriture scientifique, puis décimale.


 


a. 


150


×


10


3


×


8


×


10


5


=


 


 


b. 


2


×


10


3


×


5


×


(


10


-


5


)


2


=


 


 


c. 


3


×


10


8


×


4


×


10


-


5


=


 


 


d. 


2


×


10


9


×


7


×


10


-


6


=


 


 


e. 


3


×


10


2


×


1


,


2


×


10


-


5


=


 


 


f. 


5


×


10


2


×


0


,


3


×


10


-


6


=


 


 


 


 




Page 64. Exercice 38.   Calcule et donne le résultat sous la forme d'une  écriture scientifique, puis décimale.   a.  150 × 10 3 × 8 × 10 5 =     b.  2 × 10 3 × 5 × ( 10 - 5 ) 2 =     c.  3 × 10 8 × 4 × 10 - 5 =     d.  2 × 10 9 × 7 × 10 - 6 =     e.  3 × 10 2 × 1 , 2 × 10 - 5 =     f.  5 × 10 2 × 0 , 3 × 10 - 6 =        

